H 52 5 -110mH 91. 4cm_9. 14m B 5B+ 110mH 106. 7em_ 9. 14m
BABV=R BABV=R
EE (J.:0. 0) 14 (j&:-0. 8)
Vv fun - K4 P& JIELT Aok JERE vy - KA g aCgk aAvb
L . 1 41989 WA FHik WA 16. 51
2 2 6 1996 7k Eih Kok 16. 95
3 7306 EH Pt JRRAE LA DNS 3 2 1157 ZK#H: WEA KAl 17. 80
4 4 5 398 pEA A1) A 19. 32
5 5 3 887 = B’k (2 WESR 20. 11
6
7
8
H 2242 F100mH 76. 2cm_8. 00m B 2 F100mH 84. Ocm_8. 50m
RABV—R BABV—A
1#H (#:-0.3) 1#H (j#: 0. 2)
NELL V= Fun' - K4 iz Fidk 2pvh JEDL V= o= K4 i) Fifk aAvh
1 2 7248 YA WRL(1)  RRIIR 19. 02 1 6 524 I X0 (2 HEAR 16. 74
2 4 6855 MM HA(2) Wz 19. 50 2 8 574 ZH BAF] gt 17.91
3 7 6858 fex K EFEH(2) Wz 19. 58 3 5 601 #rbl =HL SED N 18.19
4 6 7247 YR OAWE(1) AR 20.71 4 7 602 M HEEYD SR 18.87
5 3 7394 [y E)Y (2) B 20. 72 5 3 807 FKJR HRIE:R WD 2 19. 05
5 7301 mH FHRE JR KA DNS 6 4 26 HEF LNk I RAE I 19.95
7 2 171 WNifE ZEE SED N 20. 04
AR 22 F3000m (B « —i%) % F3000m
RADV=R RABV—R
iz 14
JIEAE ORD v = K4 iz RLgk V) JIEfZ ORD Fvn'— K4 iz gk Vb
1 9 1021 FEBL HEEL(3) FiBubiEh 10:46. 75 1 12 3487 #H & fa (L kb 9:21.34
2 7 594 fEH HEE(2) Eibnay i) 11:00. 56 2 13 3087 "N R SRR 9:36. 38
3 5 597 FEA HEZE(2) Eanyi) 11:05. 62 311 3446 K{E BIX e Lt 9:38.61
4 4 163 MR E (D PR 11:08. 99 4 6 2085 A F=(3) fE L 9:46. 91
5 2 511 /MR Tk ko fE 11:35. 65 5 10 3468 /NIl Kl fa (L kb 9:52.55
6 10 636 HH mxT SR 11:40. 16 6 16 3170 MR FEIE Tt 9:56. 38
7 6 595 EEF F(2) FiubiEh 11:59. 11 7 7 3305 (LA 1K ke A C 9:57.75
8 3 858 FMIFE EImME(1) Eibnay i) 12:21.70 8 9 3455 K& [EA & Lkt 10:06. 26
9 1 213 KA R JRRAE L 12:24. 27 9 3 279 FHiL M JEE R 10:19. 55
8 1014 @G %= (3) IR, DNS 10 1 1004 HEA BE% JRRAE L 10:27.04
11 5 1151 #etJfF fE 2 BE 10:36. 77
12 14 1524 Kfe k&) (PN 11:19.31
13 4 874 FFf B 2 AE 11:28. 14
14 15 3134 fem & FiETIER  13:38.74
2 1250 Ji —/ g DNS
8 3708 FA Eft fE Tk, DNS
H1 2258 1-3000m
RABDV—=R
FE
JIERE ORD Fvn' = K4 ] FobE Vb
1 1 7261 FEMD (A (1) #RIIR 12:00. 42






/NEFEF100m

A{hV-%  8fA
142 (A:-2. 1) 2% (:-2.3)
MERE V= Fyn = K i i NEGE V= Fun - K4 (i) Fofk 2pvh
1 5 9901 WA HH(6) w2 =7 13. 64 1 5 28914 KA Hifl kel 57 15. 18
2 4 9614 TEA A Ly ke E 13.99 2 6 9904 {EfE KA (6) B 2=7 15. 37
3 39902 fEH JHZF(6) w2 =7 14.03 3 39908 AFf  Hif (5) w2 =7 15. 40
4 2 9402 (UF kK6 ) MERTRU—L 14. 49 4 2 28910 JhE WK S Ly 5T 15.51
5 7 9911 AH K6) WY 2 =7 14. 56 5 1 9401 %2 IE(6) a7 A ) —k 15. 70
6 6 9406 V&K  HAK(5) @7 AU — b 15. 63 6 4 9611 &0 H= By - 15. 77
7 1 10017 % &iA (6) FEJ AC 15.94 7 7 17901 B UK (6) PR VE R 16. 00
8 9612 /NE T & HE L DNS 8 8 10020 # b HEE(5) FriEJ AC 16. 10
3%a (m:-2.3) 4% (:-1.0)
JIERL V= Fun - K4 e ALEk aAvh JERL V= Fun - K4 P& Fogk aAvh
1 2 10018 #fE H87E(5) HE] AC 15. 63 1 5 28918 A —Hf Eee) 16. 18
2 5 9907 #Ji K (5) By 2 =7 15. 67 2 2 28911 /v b ZEkELy ST 16. 19
3 7 28906 [HE HAr SRkt 57 15.72 3 79404 FEH EK(6) (=Y WEN 16. 39
4 6 9403 ZF|lL i (6) Y&R7 AU —h 15. 80 4 39910 PHE  fdfh (5) By 2=7 16. 57
5 4 28912 Yl B SR 57 15.98 5 4 9613 fix R HE B 16. 77
6 3 9610 Kfi Ha LrmkE E 16. 00 6 9503 Hk fEE RS> DNS
7 8 10019 =4 fEHG) FEJ AC 18. 20 8 28909 HHE A SR TT DNS
5% (&:-1.0) 65H (R:-1.3)
ERE V= Fun - K i Fobk 2pvh NEGE V= Fyn - K4 i) Fobx 2avh
1 4 28913 MEEL KFH SRy 77 15. 81 1 6 28907 ke FE— SR Ly 57 14. 80
2 6 10021 #HRA FHIR(G) FIE] AC 16.07 2 79504 #JE B WES IR 16. 30
3 5 9408 WA M (5) a7 2 — K 17. 44 3 3 10022 HA E(5) FIET AC 16. 47
4 317902 HFF T (6) i o el s 17.57 4 4 28915 fRH  HLK e ks 5T 17.67
2 28922 M M SRy 7T DNS 5 5 9615 JEM HEA e 17. 77
7 28908 WK KL ZEELs ST DNS 6 2 28923 7 M = 18.43
TR (E:-1.3) St (A:-1.2)
JIERL V= Fun - K4 e ALEk aAvh JERL V= Fun - K4 P& Fogk aAvh
1 310024 FKJE  FEA(5) HriEJ AC 16. 04 1 6 28917 AR HEE =Rk Es 57 17.70
2 4 9407 FHK e (5) Y7 2 Y —h 16. 42 2 5 28921 MK BEE ZhbE R 7 18.05
3 7 28920 M EE SRRy 5T 18.19 3 2 28916 RAM  IkHE SFRERs ST 18.17
4 2 9617 R & mpE bk 18.21 4 4 9405 K EHIG) &7 Ay — k 19. 10
5 28919 kP 4K SRRy 5T DNS 5 79409 A& EHE(5) r=s7 AU — b 19.75
6 28926 [HiFF FHE “beky Z7 DNS 3 10023 Ak E(5) FIETAC DNS



/NFEZLF100m

A{hV-% 958
142 (@.:-1.9) 2% (@:-1.9)
MERE V= Fyn = K i i NEGE V= Fun - K4 (i) Fofk 2pvh
1 6 28929 [LilF AT B 14.21 1 4 962 fEE B By M 14.99
2 3 28932 EiL i S 14.91 2 3 28928 [HH FE/EE SRR ST 15. 50
3 1 1006 EA HYR(6) FE] AC 14.95 3 L 961 A OB BimpE E 15.70
4 4 28927 A (T Sk ks 57 15. 32 4 79913 JRME  BHE(6) BLYa2=7 15.73
5 2 9408 VL A4 @7 AU —h 15. 37 5 8 968 M HLYF Bk - 15. 75
6 71002 AL 1E4E(6)  FHEJ AC 15.93 6 2 9406 FEIE MEFE a7 2 — 15. 88
7 8 9507 ik BEA MRS58 16. 65 7 6 17901 [LFAR {E{E(6) PR VE R 15.92
5 9401 1 =<6 @7 A —k DNS 8 5 9405 A EYE VRN 16. 16
3%a (:-0. 5) 4% (A:-1.5)
JIERL V= Fun - K4 e ALEk aAvh JERL V= Fun - K4 P& Fogk aAvh
1 21001 Fnm EREAI6) FET AC 15.25 1 7 1004 &R A (6) FIE] AC 15. 26
2 39402 i RLE &7 2 — K 15. 52 2 5 9410 RA O ra7 20— b 15. 83
3 4 966 /R BEFE %y M 15.57 3 4 967 HEH HAw By M L 16. 54
4 1 965 AN RE BrmkE E 16. 02 4 39915 filifh Hi&5) BLYa=7 16. 67
5 6 9407 /AR LERME a7 2 — K 16. 10 5 1 9912 ftH# Ar%e(6) B 2=7 16. 69
6 5 15703 #A&xF #ij#& (5) RILTEbva 16. 18 6 6 28931 A& RlF Sy 5T 16.75
7 8 1003 fFE; A% (6) FEJ AC 16. 26 7 2 17902 @7 HAx(6) ANV a2 =30 16. 93
8 7 9508 =Eff] K MinES & 16. 32 8 8 972 JEEPE BL(5) ey 17.22
5%H (.:-0.9) 6#H (B:-1.0)
JERE vy fun - K4 g FLEE V) JEDE V= Fyn - A (i) FLEk aAvh
1 6 974 Ik B e e 15.57 1 7 10013 [EA& A6 (5) HIET AC 17. 41
2 1 10011 5 HLG5) HE] AC 16.53 2 4 9914 FRH  FFE(5) whY =7 17. 46
3 8 9512 Byl /INE MinES 9= 16. 87 3 8 10016 M L (5) FIE] AC 17.68
4 29919 AR bhlkB) fwElYa=7 17.05 4 1 9509 #ES medd WES 17. 69
5 3 28934 H%iE WE S 18. 04 5 2 9411 JEH A @7y A —hk 17. 69
6 7 10012 RH  Eflk(5) FrET AC 18. 40 6 5 28935 HH AN S Ly 5T 17.93
4 15702 BA HE(5) EIFEbvE DNS 7 6 9404 A BEE (=Y WEN 18. 22
5 10010 hE AAEH(5) FEJAC DNS 8 3 10014 EE LF(5) FEJAC 18. 66
THE (: 0. 8) SHH (:-0.8)
JERE Vv—v  fun - K4 B DM NEDL V= Fyn' - K4 B figk apvh
1 79920 (LN HEX(5) ‘LY 2=7 16. 36 1 3 1008 FRM  FEEE(6) HE] AC 15.53
2 2 969 (LA E Bk - 16. 39 2 2 971 R O kv (5)  (HERRE L 15.57
3 317903 mA BRI G)  HFHERE L 16. 50 3 71009 =& EER() FEJ AC 16. 10
4 5 15701 WA H2#E (5) Fir+&va 16. 57 4 6 9917 FZE Q¥ G5) LY =7 16. 60
5 4 28930 KEE T-Hi#] =R 77 16. 69 5 1 9409 & HE a7 AU — b 16. 62
6 L1005 Jrl] ZEEIE®G) HEJAC 16. 70 6 4 9918 KB HIR(5) BLY2=7 17.01
7 8 9916 W FHE(5) By 2 =7 16. 99 7 5 9403 il A V@7 A Y — b 17.05
6 1007 A EAE6) FET AC DNS 8 28933 JKEF VR Sy 5T DNS
9%a (E:-1.3)
NELE V= Fyn' - K4 Bl gk apvh
1 5 9921 WA /IFEGB) @Y 2=7 15.39
2 8 964 mifE HE & HE 15. 45
3 6 10015 kb A (5) BriEJ] AC 16. 28
4 4 973 JHEFH WEXT-(5)  fHIERRE - 16. 36
5 7T 963 KR #E BrHE B 17.10
6 2 9510 R HFF WLES IR 17.50
7 3 9511 /bR b WLES IR 18. 44



%5 +100m

RABV-A  4fH
142 (E:-1.5) 2% (@:-1.3)
ERE V=2 Fun - K4 Bl Fobk apvh NEGE V= Fyn - K4 Bii=] figk apvh
1 2 6858 Il H&:(2) Wz 12.77 1 6 7271 fME JE IO TG 12.79
2 6 7307 JEEH WRA JRRAE LA 13.52 2 3 7331 xR FE 3T KA L 13.41
3 4 7255 EEEL SER(1) #AR 13.55 35 7306 EHCEA IR LT 13.82
4 77396 /MR IEZZ(1) Zerp 13.73 4 1 6861 i WA(2) Wz 14.21
5 3 6552 IR iE R 14. 06 5 2 16405 #fil Eysr =T 14. 64
6 5 16408 & =T 14. 67 4 3453 JRAR {E3H(3) & ikt DNS
7 1 7261 JEHL {EA (1) A 14.76 71027 HAR FEA ERAE L DNS
8 6879 MAH AAE(1) W DNS 8 6865 fhAE MAN(2) @R DNS
348 (J8:-0.8) 4%H (@:-1.0)
MEGE V= Fyn - K4 [EilE) Fofk apvh NELE V= Fyn' - K4 (Bl fodk apvh
1 76862 T FEKR(2) Wz 13.78 1 4 6864 |0 FEK(2) 2 12.97
2 2 6859 EHP ®AK(2) WX 13.78 2 7 6866 JHEFH RAK(2) Wz 13.92
3 6 7397 P WA Fikrh 14. 44 3 8 6875 HT HEE(1) W 14.07
4 316401 A ZhiE E s 14. 52 4 2 7251 FH HAR(2) AAK 14.51
5 4 7256 JAE E(1) ELENE 14. 62 5 5 7258 B MW (1) AMIK 15. 04
6 5 7250 fEE fHH(2) AOR 15. 38 6 1 7259 KK Eh(1) O 15. 28
7 8 6551 R MR Krist 16. 06 7 6 7260 fExK HEE(L) AOH 15.73
1 6876 MR f&E(1) @z DNS 3 6874 B wIL(1) @ DNS
& 22-F100m
A{hV-%  6FE
1% (a:-1.3) 2%H (J&:-0. 1)
BAL V= Fon - K4 Bl Fodk 2pvh (=2 7N v 4 BilE] Figk aAvh
1 8 7332 [IfR =3 SEARAE L 14. 15 1 7 6853 I 15 (2) o 14. 26
2 6 3492 WO ER "H/T7TAY—b 14. 28 2 4 6855 MEM FIAM(2) @R 14.33
3 4 830 iy H{EF](2) HIRLZ TR 14. 50 3 6 7248 PEE WRSR(1) RO 14. 67
4 5 7274 FnM o EMN i) 14. 66 4 5 5098 AA A1) R 14. 85
5 2 7245 JAIFH EZR(3) MmO 14.72 5 37310 M)l fERE SRR A L 15. 02
6 3 6375 miE FEM =T 14.89 6 2 6390 i REEE =T 15.92
7 76394 W Ak E=T 15. 02 8 5097 #HE EFE(D B R DNS
3%E (#:-0.7) 4%H (J:-1.0)
JNEAL V- o - KA Bia Rk AV NEAL V=v o' - K& G Fodk vl
1 1 6389 FHE #£ =T 14. 26 1 8 6857 Jukf ErR(2) @R 14. 42
2 76861 HHHE BER (1) @z 14.90 2 36854 FHT FZE(2) W 14. 46
3 5 6863 &8 XEAK(1) Wz 15. 02 3 6 7331 M efEE I KA 15. 08
4 8 5095 [ &A1) R 15. 12 4 2 7252 RMOZEMR(1) ALK 15.12
5 37250 EHIEE ORAE(1)  ARAE 15. 20 5 4 7338 JAIA Ehk I KA 15.17
6 6 6563 JEE BLT Kiis 15.21 6 77247 YER AWE(1)  MROIR 15.55
7 2 5094 FHEE BEHAE(L)  FEEAE 15. 48 7 5 7394 [y #EJ)h(2) B 16. 04
4 6557 JIIy Hiimt 15. 51
5%E. (Jil:-0. 4) 6%a (jf:-0. 4)
WERL V=2 Fun - K Bl Fogk apvh NEAL V=2 FunT - K [EilE] Fogx avh
1 5 6862 EEAT fRAR(1) Wz 15.17 1 4 6552 AaE EE Kris 15. 05
2 2 7335 IEMH A3 I RAE 15.53 2 2 6556 &l RH Hr 15.13
3 77311 FJF EMR JRRAE L 15.78 3 3 7334 FEAKJF TV T RAE L 15. 83
4 3 7393 JAIAS EREH(2) Ak 15. 86 4 6 7312 AR HAT SRR A L 15.93



8 6559 fE i S 15. 86 5 77336 HERJE WG 3T R AR L 16.51

4 5093 FHH BpIuE()  FEEHE 16. 14 6 5 7398 HE (1) B 16.53
6 7337 KA MR ERAE L DNS 7 8 6561 JEH faEyeF] hiE 18. 06



=55 F100m

AA-2 1248

1#E (B:0. 0) 2% (B:+0.7)
NEGE V= Fyn - K4 Bz Fobk 2pvh NELE V= Fun - K4 FE ikt DA
1 3 2055 JEF HKEOG) FEE Es 11. 10 1 5 1776 5% {E(3) HEA 11.51
2 6 884 MM EK(2) HESE 11. 42 2 6 1389 HEA EEER Fitk 11.60
3 8 1985 HR & (3) AR 11.55 3 4 2242 HHF KE TR AE L 11.80
4 5 2081 WA 1HE2(3) LT 11.56 4 7136 Stk #(D) GERvE A 11.89
5 2 1965 BEF (B v 11. 60 5 11097 75H  HEX JF 11.90
6 4137 /B MAE (D TSLAE 1L 11.89 6 8 386 M EEk(1) HESR 11.91
7 71098 {E@ U F¥ S 12. 00 7 3 74 BEH KHME() PR R 12. 04
1 381 WA —K(Q) HEAR DNS 2 68 WA RO Az Bl DNS
3k (R +1.8) 4% (L:+0. 4)
I A T 2N 7 i Fobk 2pvh NEGE V= Fyn- KA (i) bk P
1 8 1963 MiE X E ] 11.45 1 4 72 JIAR HIK () AR 11.60
2 4 1026 MR S I RAE I 11. 54 2 6 1021 fEfE FE= FEIE R 11.79
3 5 1023 JHEH vEM JEIEH 11.63 3 1 883 fftH #th(2) HESR 11.84
4 71989 ML FHik KA H 11.70 4 2 1022 fEAK  BR SR 12. 09
5 2 107 EA HEE = JEUR 11.83 5 5 1156 2lF wEh KB ety 12.22
6 6 69 KB Mt i B 11.92 6 71161 WH  FRk KB ety 12. 37
7 3 103 WiE  FRFEIED R 11.95 7 8 1388 fE L {h Bite 12. 42
8 1 875 ZFM Wik k2 Bl 11.98 8 3 312 HZE fEE FFr 12. 86
5%E (.:+2. 3) 6% (@:+1.2)
G V= Fun = K4 il Fobk apvh NEGE V= Fyn - K4 i) Fobx 2avh
1 8 217 HAR &k I 11.75 1 5 378 NI fiiHE (1) HEH 11.98
2 4 379 tHEE KBE(D) HEAR 11.85 2 2 952 [im PEER(Q2) DAl 12.14
3 7 305 #EH REH i 11.96 3 30271 B F #iEQ) TR 12.26
4 1 125 mME B+t it 12.12 4 7 1070 VE{H IE(2) PNSTEE 12. 30
5 5 1130 PR {2 = 12.18 5 1 917 EE RHE(Q) JFrh R 12.51
6 6 2046 P R Ttk 12. 21 6 6 278 M FEER AR 12. 60
7 2 2082 FH KE®G) fEIL T 13.27 7 8 887 ZJR Kik (2 WER 12. 67
3 998 filJF —pk JERAE L DNS 4 436 M RE kB
THEL (J8\: +0. 6) Skl (.:0. 0)
NESE V= Fun— K4 i s NEGE V= Fyn' - K4 (i) Fodk apvh
1 6 367 R KD HISEAR 1L 11.99 1 4 75 HgH SR (1) JESER Y 11.75
2 7 2308 AA  K(3) JFHR 12. 35 2 11025 fE2  FEB(2) i N 12.42
3 3 311 HE i 12.55 3 2 269 mF LK) TR 12. 45
4 2 999 EfE B JRRAE L 12. 62 48 1102 MY Rith S 12.67
5 4 1334 WNEE HON(Q) PNSTEEE 12.71 5 3 310 N MERR Jisiasl 12.74
6 8 942 EMT EHK(Q) I T 12.77 5 509 JiE HE LS DNS
7 1 1163 JkIt Kiifi(2) R 12.81 6 1429 [LE ATAK AHA DNS
5 307 JHB At i 7 543 i FE FiEde DNS
ol (J8:0. 0) 10548 (A.:+0. 2)
EGE V= Fun = K4 B Fib%k 2pvh NEGE V= Fun - K4 B Foé% 2pvh
1 6 2222 Wk B3 SETES 12. 11 1 2 109 FHk FE =R 12.73
2 4 396 PNAE (1) A 12. 42 2 5 452 fERE AR (D) JFHIR 13. 40
3 2275 B (D JRIERE 12.76 3 6 273 Wk FzQ) SETES 13. 44
4 5 38 (LR E#HQ) HES 13.27 4 3 212 HE B SRS 13.80
5 8 239 twH HHt KA 13. 64 5 8 2313 fEjE  KEHR(3)  FRiHAFMIREE 14. 29
6 3 510 ZEJF ik R 13.76 4 508 {LJII  BUR £ DNS
7 448 E OAIE (D A A DNS 7991 A3 Q) ST HES DNS
BV-2 12f%H
1148 (. +0. 9) 1248 (JE:+0. 1)
NEGE V= Fyn - K4 Bl Fobk apvh NESE V= Fyn- KA (i) fofk 2ivh
1 8 1027 HR WHEA IERAE L 11. 62 1 5 276 i FikQ) TR 13.84
2 5 399 (LA EH(1) A 12. 69 2 702227 EH OJRE(3) JEBAFH AL F 1 14.17
3 7274 BEA AR (D S ETEES 12.85 3 6 1417 #H K5 (©2) FEA RIS T 15. 00
4 4 1131 BRI 1k =JFR 12.93 4 3 449 Bl BEA Q) JFH R 15. 38
5 3 339 AT A JRRtE I 13.12 5 2 1390 AR 1K) FE AT A 15. 42
6 6 2314 tE EFQE) RS RIS 14. 01 4 380 /R AR (1) HES DNS
72 1773 B HEFG) JESE R RIREE 14. 02



(BB« —fi%) %F100m

BABV-2  4#H

14H (J1\:-0. 6) 2%H (2:+0.8)
MESE V= fun - K4 EE] figk aAvb JESE V= fun - K4 i Aidk 2ivh
1 6 1429 AKJII HA(3) JTRAE L 13. 69 1 4 907 Mk HER ASTI¥v 12.72
2 4 327 f fERY SR 13.76 p 6 155 TEFEETE SR 13.38
38 105 jfk HEA FEiEdk 13.95 3 5 71364 Jf 1 EHE (ARSI PN 14. 10
4 7 600 EHFEHE FRIEH 14. 04 4 2 815 JI EWL JF 14.13
5 5 227 R ORE®Q) [pRA 14.09 5 8 172 A A FRIEH 14.32
6 2 181 K —# ko B 14.40 6 7 848 KE T Rtk 14.40
7 3 574 KH WIH JEiE L 14. 44 7 3 1172 fEIE AR WA HAT 14. 60
1 573 [uA 2 FeiEde DNS 8 1 602 M HEEYD JEIE R 15. 06
Sk (J&:0.0) 44H (J\:+0. 5)
JBAE V= N - K4 Bl sk aAvh JEGE V—=y  fun - K4 ISl sk vl
1 4 186 M BkE KR 14. 38 1 4 226 EJE OEWL(D isEAgE L 14.95
2 3 142 A&E R A BN 14.73 2 5 168 tadf (1) JEIEREE 15. 08
3 8 171 Wi ZE FEIE R 14. 84 3 2 233 EE % Pai 15.38
4 6 775 MR HE Tt 14. 88 4 3 145 #HKMA WL B 15. 80
5 7183 MM s Jif e 15. 26 6 551 kG A £ DNS
6 2 235 k3 KX Bk 15. 45 70392 Ak EZEQ) SETEES DNS
5 157 fREE W IR DNS 8 236 B K& Zite DNS
VN
/INF 5B F-800m
BAA-2 28
14 2%
JESE vy - K4 i) Fogk apvh ERE V= o - K il Fogk Vb
1 2 9901 WA I (6) WY 2 =7 2:33.29 110 28925 7% BAEF SR 57 2:41. 15
2 12 9404 EM JRK(6) a7 AV —k  2:34.76 2 39910 BEE  fdf (5) WY 2 =7  2:41.52
3 14 9406 Tk K (5) &7 AV =k 2:365.21 3 9 28924 M A}t ZEeEY 57 2:45. 16
410 28901 g A SRk Es 57 2:36.64 4 4 10020 FH-E  HFHL(5) FET AC 2:46. 42
5 5 10017 & 1A (6) HEJ AC 2:40. 92 5 17 28926 [ FHE SEE R ST 2:48.48
6 11 28902 [ S Y 57 2:43.65 6 15 9407 #Hk I (B) &7 AV =k 2:49.95
7 1 9610 Rf5 H= Bz - 2:45.73 7 29909 LA S (5) @Y 2=7 2:52.28
8 9 28904 —if R Rk R2 57 2:48.59 8 6 10022 HA H(5) BE] AC 2:52.34
9 7 28905 EMH HS Wtk Z7  2:51.29 9 5 10021 #RA  ¥HATR(5) BE] AC 2:58. 67
10 6 17901 # K (6) TR VERE L 2:53.12 10 11 9504 #RJR [ MWNEAHS 2:58.76
11 4 10018 4% H2Z2(5) FET AC 2:55. 08 11 1 9616 A A Gy e b 2:59. 56
12 16 9403 ZFl iR (6) Yr#7 AV —k  2:55, 42 12 12 9505 j#H (HE #OEAS 2 3:12.07
13 310019 =& fEH(5) FET AC 2:56.13 13 14 9409 #&#% 162 5) &7 AV—k  3:15.85
14 8 28903 Il S EZF7 0 3:10.63 14 16 9408 ¥iA FE(5) V&7 AY—k  3:27.27
15 13 9405 A I (5) MH7AV—F  3:18.80 710024 JKJE FIEA(5) BE] AC DNS
15 9401 #kJ2 HE(6) a7 AU — b DNS 8 10023 #fE #(5) BE] AC DNS
13 9506 fak% A MLES D DNS
VYL 400m
FuR— 9901
MBI f—
ALk 1:17
FuR— 9910
MBU=A 24—
ALk 1:17
PAY
/INF 2L F-800m
BAhV-2 2%
142 2548
JENL V= FunT - K4 i FCék apsb JBAL V= fun - K4 i Fogk aivb
113 9402 thig R a7 A0 — b 2:42,98 112 9409 E#% H¥F a7 A —h  2:39.28
2 2 9913 JRHEH  BLHE(6) LY 2=7  2:46.90 2 310011 i HEHA(5) BIETAC 2:47.26
3 71005 Syl ZEMEKEG6) HHEJ AC 2:47. 46 3 13 9408 JIJR EAHE a7 AV —hk  2:50.73
4 41002 HALR fH1E6)  BET AC 2:49. 69 4 11 28938 jli%: &5 SR ST 2:51.72
5 31001 Fof  fEREHI6) FUET AC 2:50. 61 5 14 9410 RA L @7 AV —k  2:56.36
6 14 9403 thli %A @7 AY =k 2:55.08 6 15 974 Ak EEH TEET e 1 2:59.93
711 14302 NE  F5(6) RIERR 2 77 2:55.23 7 10 28937 FuAk AR “ERELZ 7 3:00. 86
8 8 1008 JRH FERIFE(6) HIE] AC 3:03. 11 8 11009 =k 5ER(5) BIETAC 3:00. 87
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